
Any errors please let me know at jforsythe@passion4maths.com   
 

Crochet a ‘Log Coaster’ 
A coaster based on the log scale. 
 
Using a 3.5mm hook. 
You’ll need four colours 
 
Using colour 1 start with a 5 ch foundation chain and join in a sl st 

 
Round 1 2 ch (counts as 1 htr), 9 htr in the foundation ring.   
Join to the 2nd st of original 2-ch with a sl st (10 htr). 
 
Round 2 2 ch (counts as 1 htr), *2 htr in the next gap* repeat from * to * 9 times, 1 htr in the next 
gap.  Join to the 2nd st of original 2-ch with a sl st. (20 htr) 
 
Round 3 2 ch (counts as 1 htr), *2 htr in the next gap, 1 htr in next gap* repeat from * to *6  times, 1 
htr in the next gap(20 htr).   
Join colour 2, 1 htr in the same gap, **1 htr in the next gap, 2 htr in the next gap** repeat ** to ** 3 
times(10 htr).  Join to the 2nd st of original 2-ch with a sl st. (30 htr) 
 
Round 4 2 ch (counts as 1 htr), *2 htr in the next gap, 1 htr in next 2 gaps * repeat from * to * 4  
times, 2 htr in the next gap, 1 htr in the next gap(20 htr).  Join colour 3, 1 htr in the next gap, **2 htr 
in the next gap, 1 htr in the next 2 gaps** repeat ** to ** 4 times, 2 htr in the next gap, 1 htr in the 
next gap(20 htr).  Join to the 2nd st of original 2-ch with a sl st. (40 htr) 
 
Round 5 Mark every 10.  Join colour 1, 2 ch (counts as 1 htr), *2 htr in the next gap, 1 htr in next 3 
gaps * repeat from * to * 3  times(16 htr).  Join colour 4, **2 htr in the next gap, 1 htr in the next 3 
gaps** repeat ** to ** 1 time, 2 htr in the next gap, 1 htr in the next gap(13 htr).  Join colour 1, 1 htr 
in the next 2 gaps, 2 htr in the next gap, 1 htr in the next 3 gaps, 2 htr in the next gap, 1 htr in the 
next two gaps(11 htr).  Join colour 2, 1 htr in the next gap, 2 htr in the next gap, 1 htr in the next 3 
gaps, 2 htr in the next gap and 1 htr in the next 2 gaps(10 htr).  Join to the 2nd st of original 2-ch with 
a sl st. (50 htr) 
 
Round 6 (mark every 10)  
Join colour 3, 2 ch (counts as 1 htr), 2 htr in the next gap, 1 htr in next 4 gaps, 2 htr in the next gap(9 
htr).   
Join colour 2, 1 htr in the next 4 gaps, 2 htr in the next gap, 1 htr in the next 2 gaps(8 htr).   
Join colour 3, 1 htr in the next 2 gaps, 2 htr in the next gap, 1 htr in the next 3 gaps(7 htr). 
Join colour 1, 1 htr in the next gap, 2 htr in the next gap, 1 htr in the next 3 gaps(6 htr). 
Join colour 2, 1 htr in the next gap, 2 htr in the next gap, 1 htr in the next 2 gaps(5 htr).   
Join colour 3, 1 htr in the next 2 gaps, 2 htr in the next gap, 1 htr in the next gap(5 htr). 
Join colour 4, 1 htr in the next 3 gaps, 2 htr in the next gap(5 htr).   
Join colour 3, 1 htr in the next 4 gaps, 1 htr in the next gap(5 htr). 
Join colour 4, 1 htr in the same gap, 1 htr in the next 4 gaps(5 htr). 
Join colour 1, 2 htr in the next gap, 1 htr in the next 3 gaps(5 htr). 
Join to the 2nd st of original 2-ch with a sl st.  (60 htr) Fasten off. 
 
Key:-  Ch chain 
htr half treble crochet (UK) 
sl st slip stitch 
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